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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742715171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742759101. 1
22742759102. 2
22742759103. 3

22742759104. 4



Question Number : 2 Question Id : 22742715172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742759105. 1

22742759106. 2

22742759107. 3

22742759108. 4

Question Number : 3 Question Id : 22742715173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
227427591009. 1
22742759110. 2
22742759111.3

22742759112. 4



Question Number : 4 Question Id : 22742715174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742759113. 1
22742759114. 2
22742759115.3

22742759116. 4

Question Number : 5 Question Id : 22742715175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742759117. 1
22742759118. 2
22742759119. 3

22742759120. 4



Question Id : 22742715170 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742715171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:



22742759101.1
22742759102. 2
22742759103. 3

22742759104. 4

Question Number : 2 Question Id : 22742715172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759105. 1

22742759106. 2

22742759107. 3

22742759108. 4

Question Number : 3 Question Id : 22742715173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759109. 1



22742759110. 2
22742759111. 3

22742759112. 4

Question Number : 4 Question Id : 22742715174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742759113. 1
22742759114. 2

22742759115. 3

22742759116. 4

Question Number : 5 Question Id : 22742715175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742759118. 2
22742759119. 3

22742759120. 4

Sub-Section Number : 2
Sub-Section Id : 227427596
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742715176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742759121. 1
22742759122. 2
22742759123.3

22742759124. 4

Question Number : 6 Question Id : 22742715176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759121. 1
22742759122, 2
22742759123. 3

22742759124. 4

Question Number : 7 Question Id : 22742715177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742759125. 1
22742759126. 2
22742759127. 3

22742759128. 4

Question Number : 7 Question Id : 22742715177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759125. 1
22742759126. 2
22742759127.3
22742759128. 4

Question Number : 8 Question Id : 22742715178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742759129. 1
22742759130. 2

22742759131. 3



22742759132. 4

Question Number : 8 Question Id : 22742715178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759129. 1
22742759130. 2
22742759131. 3

22742759132. 4

Question Number : 9 Question Id : 22742715179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

22742759133. 1
22742759134. 2
22742759135. 3
22742759136. 4

Question Number : 9 Question Id : 22742715179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742759133. 1

22742759134. 2



22742759135. 3

22742759136. 4

Question Number : 10 Question Id : 22742715180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742759137. 1
22742759138. 2
22742759139.3

22742759140. 4

Question Number : 10 Question Id : 22742715180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759137. 1
22742759138. 2
22742759139. 3
22742759140. 4



Question Number : 11 Question Id : 22742715181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742759141.1
22742759142. 2
22742759143. 3

22742759144. 4

Question Number : 11 Question Id : 22742715181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742759141. 1
22742759142. 2
22742759143. 3

22742759144. 4



Question Number : 12 Question Id : 22742715182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742759145, 1
22742759146. 2
22742759147. 3

22742759148. 4

Question Number : 12 Question Id : 22742715182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759145. 1
22742759146. 2
22742759147. 3

22742759148. 4

Question Number : 13 Question Id : 22742715183 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742759149. 1
22742759150. 2
22742759151. 3

22742759152. 4

Question Number : 13 Question Id : 22742715183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742759149. 1
22742759150. 2
22742759151, 3

22742759152. 4

Question Number : 14 Question Id : 22742715184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742759153. 1
22742759154, 2
22742759155.3

22742759156. 4



Question Number : 14 Question Id : 22742715184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742759153. 1
22742759154. 2
22742759155. 3

22742759156. 4

Question Number : 15 Question Id : 22742715185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742759157. 1
22742759158. 2
22742759159. 3

22742759160. 4

Question Number : 15 Question Id : 22742715185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742759157. 1
22742759158. 2
227427591509, 3

22742759160. 4

Question Number : 16 Question Id : 22742715186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742759161. 1
22742759162. 2
22742759163.3

22742759164. 4



Question Number : 16 Question Id : 22742715186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759161. 1
22742759162. 2
22742759163.3

22742759164. 4

Question Number : 17 Question Id : 22742715187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742759165. 1
22742759166. 2
22742759167. 3

22742759168. 4

Question Number : 17 Question Id : 22742715187 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742759165. 1
22742759166. 2
22742759167. 3

22742759168. 4

Question Number : 18 Question Id : 22742715188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742759169. 1



22742759170. 2
22742759171. 3
22742759172. 4

Question Number : 18 Question Id : 22742715188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759169. 1
22742759170. 2
22742759171.3

22742759172. 4

Question Number : 19 Question Id : 22742715189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

227427591731
22742759174. 2
22742759175. 3
22742759176. 4

Question Number : 19 Question Id : 22742715189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742759173 1

22742759174. 2



22742759175. 3
22742759176. 4

Question Number : 20 Question Id : 22742715190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear [l. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742759177. 1
22742759178. 2
22742759179. 3
22742759180. 4

Question Number : 20 Question Id : 22742715190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

22742759177. 1
22742759178. 2
22742759179. 3

22742759180. 4

Question Number : 21 Question Id : 22742715191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742759181. 1
22742759182. 2
22742759183. 3

22742759184. 4



Question Number : 21 Question Id : 22742715191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742759181. 1
22742759182. 2
22742759183. 3

22742759184. 4

Question Number : 22 Question Id : 22742715192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742759185. 1
22742759186. 2
22742759187. 3
22742759188. 4

Question Number : 22 Question Id : 22742715192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742759185. 1
22742759186. 2
22742759187.3
22742759188. 4

Question Number : 23 Question Id : 22742715193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742759189. 1
22742759190. 2
22742759191. 3

22742759192. 4

Question Number : 23 Question Id : 22742715193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742759189. 1
22742759190. 2
22742759191.3
22742759192. 4

Question Number : 24 Question Id : 22742715194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742759193, 1
22742759194. 2
22742759195. 3

22742759196. 4

Question Number : 24 Question Id : 22742715194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1. 20f6 ¥
2 25 fH g
3 0fad g
4 40fH ) da
Options :
22742759193. 1
22742759194, 2
22742759195. 3

22742759196. 4

Question Number : 25 Question Id : 22742715195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742759197. 1
22742759198. 2
22742759199. 3

22742759200. 4

Question Number : 25 Question Id : 22742715195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742759197. 1
22742759198. 2
22742759199. 3

22742759200. 4

Question Number : 26 Question Id : 22742715196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742759201. 1
22742759202. 2
22742759203. 3

22742759204. 4

Question Number : 26 Question Id : 22742715196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742759201. 1

22742759202. 2



22742759203. 3

22742759204. 4

Question Number : 27 Question Id : 22742715197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742759205. 1

22742759206. 2

22742759207. 3

22742759208. 4

Question Number : 27 Question Id : 22742715197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742759205. 1
22742759206. 2
22742759207. 3
22742759208. 4



Question Number : 28 Question Id : 22742715198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427592009. 1
22742759210. 2
22742759211. 3
22742759212. 4

Question Number : 28 Question Id : 22742715198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ey

&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l

&Y |I: O &1 Yhed gidad W H0gad ol &l obdl ¢l

SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

227427592009. 1

22742759210. 2
22742759211. 3

22742759212. 4

Question Number : 29 Question Id : 22742715199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742759213. 1
22742759214. 2
22742759215.3

22742759216. 4

Question Number : 29 Question Id : 22742715199 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

227427592131
22742759214. 2
22742759215. 3

22742759216. 4

Question Number : 30 Question Id : 22742715200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742759217. 1
22742759218. 2
22742759219. 3

22742759220. 4



Question Number : 30 Question Id : 22742715200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742759217. 1

22742759218. 2

22742759219. 3

22742759220. 4

Question Number : 31 Question Id : 22742715201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742759221. 1
22742759222. 2



22742759223. 3

22742759224. 4

Question Number : 31 Question Id : 22742715201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742759221. 1
22742759222. 2
22742759223.3

22742759224. 4

Question Number : 32 Question Id : 22742715202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742759225. 1
22742759226. 2
22742759227. 3

22742759228. 4

Question Number : 32 Question Id : 22742715202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742759225. 1
22742759226. 2
22742759227. 3

22742759228. 4

Question Number : 33 Question Id : 22742715203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742759229. 1
22742759230. 2
22742759231.3

22742759232. 4

Question Number : 33 Question Id : 22742715203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742759229. 1

22742759230. 2



22742759231. 3
22742759232. 4

Question Number : 34 Question Id : 22742715204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742759233. 1
22742759234, 2
22742759235. 3

22742759236. 4

Question Number : 34 Question Id : 22742715204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eue R R e R

A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
B UTHH! o5 &% e g8 HIE B gecluc BNANA @1 §3W T g

C. eI B! 1 e A Uy HU TRl BId & i 390 940 90 06 T 9 41 @R A el ¢

id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

22742759233, 1
22742759234. 2
22742759235. 3
22742759236. 4

Question Number : 35 Question Id : 22742715205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742759237. 1
22742759238. 2

22742759239. 3



22742759240. 4

Question Number : 35 Question Id : 22742715205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742759237. 1
22742759238. 2
22742759239. 3

22742759240. 4

Question Number : 36 Question Id : 22742715206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742759241. 1
22742759242, 2
22742759243, 3

22742759244. 4

Question Number : 36 Question Id : 22742715206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742759241. 1
22742759242. 2
22742759243. 3

22742759244. 4

Question Number : 37 Question Id : 22742715207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742759245. 1
22742759246. 2
22742759247. 3

22742759248. 4

Question Number : 37 Question Id : 22742715207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt Pl il Mo WG & IR 39 Pis Hecaqul widd a1 Te) a1 Ul 8, 1 59 fuf & o g oI 82
2. 99 gl

4. Tyl

Options :

22742759245, 1

22742759246. 2

22742759247. 3

22742759248. 4

Question Number : 38 Question Id : 22742715208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742759249. 1
22742759250. 2
22742759251. 3
22742759252. 4

Question Number : 38 Question Id : 22742715208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G S(URY $e S & e feedt srufdiy # 7 fagiwan gt =mfee -
A SaTiadr

B. H&Radl

C. SifHigaritean

D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742759249. 1
22742759250. 2
22742759251. 3

22742759252. 4

Question Number : 39 Question Id : 22742715209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742759253. 1
22742759254. 2
22742759255. 3

22742759256. 4

Question Number : 39 Question Id : 22742715209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiwrakum?
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4 O | 3 & foq 7 1| Tl g
Options :
22742759253. 1
22742759254, 2
22742759255. 3

22742759256. 4

Question Number : 40 Question Id : 22742715210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Life below water’ pertains to which of the SDGs?
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Options :

22742759257. 1
22742759258. 2
22742759259. 3
22742759260. 4

Question Number : 40 Question Id : 22742715210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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TSt Si 13
TSIl 14
Tg3tHi15
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Options:

22742759257. 1
22742759258. 2
22742759259. 3
22742759260. 4

Question Number : 41 Question Id : 22742715211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742759261. 1
22742759262. 2
22742759263. 3

22742759264. 4

Question Number : 41 Question Id : 22742715211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759261. 1
22742759262. 2
22742759263. 3

22742759264. 4

Question Number : 42 Question Id : 22742715212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India

[

o

Options :

22742759265. 1
22742759266. 2
22742759267. 3

22742759268. 4

Question Number : 42 Question Id : 22742715212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759265. 1
22742759266. 2
22742759267.3

22742759268. 4

Question Number : 43 Question Id : 22742715213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742759269. 1
22742759270. 2
22742759271.3
22742759272. 4

Question Number : 43 Question Id : 22742715213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759269. 1
22742759270. 2
22742759271. 3

22742759272. 4

Question Number : 44 Question Id : 22742715214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

22742759273 1
22742759274. 2
22742759275. 3
22742759276. 4

Question Number : 44 Question Id : 22742715214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759273. 1
22742759274 2
22742759275, 3

22742759276. 4

Question Number : 45 Question Id : 22742715215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

22742759277. 1
22742759278. 2
22742759279. 3

22742759280. 4

Question Number : 45 Question Id : 22742715215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742759277. 1



22742759278. 2
22742759279. 3

22742759280. 4

Sub-Section Number : 3
Sub-Section Id : 227427597
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742715216 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742715217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742759281. 1
22742759282. 2
22742759283. 3
22742759284. 4

Question Number : 47 Question Id : 22742715218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742759285. 1
22742759286. 2
22742759287. 3
22742759288. 4



Question Number : 48 Question Id : 22742715219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions

L

F =N

Options :

22742759289. 1
22742759290. 2
22742759291.3
22742759292. 4

Question Number : 49 Question Id : 22742715220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742759293. 1



22742759294. 2
22742759295. 3

22742759296. 4

Question Number : 50 Question Id : 22742715221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true

[ L

e

Options :

22742759297. 1
22742759298. 2
22742759299. 3

22742759300. 4

Question Id : 22742715216 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742715217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759281. 1
22742759282. 2
22742759283. 3

22742759284. 4

Question Number : 47 Question Id : 22742715218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759285. 1
22742759286. 2
22742759287. 3

22742759288. 4

Question Number : 48 Question Id : 22742715219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759289. 1
22742759290. 2
22742759291. 3
22742759292. 4



Question Number : 49 Question Id : 22742715220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742759293. 1
22742759294, 2
22742759295. 3

22742759296. 4

Question Number : 50 Question Id : 22742715221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742759297. 1
22742759298. 2
22742759299. 3

22742759300. 4
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Question Number : 51 Question Id : 22742715222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Madala 's lullaby is a part of which of the following

1. Visnu Purana

2. Siva Purana

3. Markandeya Purana
4 Bhagavata Purana
Options:
22742759301. 1
22742759302. 2
22742759303. 3

22742759304. 4

Question Number : 51 Question Id : 22742715222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742759301. 1
22742759302. 2
22742759303. 3

22742759304. 4



Question Number : 52 Question Id : 22742715223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Yaska is associated with which of the following

1. Nirukta

2. VWakarana

3. Chandas

4 Jyotisa
Options :
22742759305. 1
22742759306. 2
22742759307. 3

22742759308. 4

Question Number : 52 Question Id : 22742715223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759305. 1
22742759306. 2
22742759307. 3

22742759308. 4

Question Number : 53 Question Id : 22742715224 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Mirrta is associated with which direction ?

_ South West
. South East
- North East
- North West

[

=

Options :

227427593009. 1
22742759310. 2
22742759311. 3

22742759312. 4

Question Number : 53 Question Id : 22742715224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427593009. 1
22742759310. 2
22742759311.3

22742759312. 4

Question Number : 54 Question Id : 22742715225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

In Mahabharata the name of Jaratkaru’s wife is

Vinata
Jaratkaru

- Kadru

. SacT
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e

Options :

227427593131
22742759314. 2
22742759315. 3

22742759316. 4

Question Number : 54 Question Id : 22742715225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HETHRA H SRd®IS 1 Ul & A1 &1 52

1. Td-c
2 SWidqle
3 g

&
wh

4 Tl

Options :

22742759313. 1
22742759314. 2
22742759315. 3

22742759316. 4

Question Number : 55 Question Id : 22742715226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Buddhi is a Guna in which philosophy

1. Nyaya

2. Sankhya
- Mimamsa
Vedanta

%]

o

Options :

22742759317. 1
22742759318. 2
22742759319. 3

22742759320. 4

Question Number : 55 Question Id : 22742715226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742759317. 1
22742759318. 2
22742759319. 3

22742759320. 4

Question Number : 56 Question Id : 22742715227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The padartha’s of Vaisesika constitute which of the following Nyaya

1. Pramana

Options :

22742759321. 1
22742759322. 2
22742759323. 3

22742759324. 4

Question Number : 56 Question Id : 22742715227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. UHIT

2. UHg

4 SIfd
Options:
22742759321. 1
22742759322, 2
22742759323. 3

22742759324. 4

Question Number : 57 Question Id : 22742715228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Smell is the property of which of the following Dravyas

1. Prthvr

2. Vayu

3. Apa

4 Teja

Options :
22742759325. 1
22742759326. 2
22742759327. 3

22742759328. 4

Question Number : 57 Question Id : 22742715228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742759325. 1
22742759326. 2
22742759327. 3

22742759328. 4

Question Number : 58 Question Id : 22742715229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Among the following, who in the R@mayana tries to convince Rama to return by insisting that promise need not be kept?

1. Jabali

2. Visvamitra

3. Bhargava

4 Vasistha
Options :
22742759329. 1
22742759330. 2
22742759331. 3

22742759332. 4

Question Number : 58 Question Id : 22742715229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742759329. 1
22742759330. 2
22742759331. 3

22742759332. 4

Question Number : 59 Question Id : 22742715230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How many Trutis does one "Lava” have?

.60
100

. 360

.20

[

o

Options :

22742759333. 1
22742759334. 2
22742759335. 3

22742759336. 4

Question Number : 59 Question Id : 22742715230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759333. 1
22742759334. 2
22742759335.3
22742759336. 4

Question Number : 60 Question Id : 22742715231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



If the longitude of the Sun is 75%, then what is the Mahanaksatra?
1. Ardra

2. Mrgasira

3. Punarvasuh

4. Pusya

Options :

22742759337. 1

22742759338. 2

22742759339. 3

22742759340. 4

Question Number : 60 Question Id : 22742715231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I I P1 ¢/ 75° €, I HeT4E a1 ai?

1. TS
2. FIER
gz
Options:
22742759337. 1
22742759338. 2
22742759339. 3

22742759340. 4

Question Number : 61 Question Id : 22742715232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How many Yugas are there in one day of Brahma?

1. 2016

2. 204

3. 1008

4 1048
Options :
22742759341. 1
22742759342. 2
22742759343. 3

22742759344. 4

Question Number : 61 Question Id : 22742715232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ST & TP [T H e Tl &2

1. 2016

2. 204

3. 1008

4 1048
Options:
22742759341. 1
22742759342, 2
22742759343.3

22742759344. 4

Question Number : 62 Question Id : 22742715233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



If the longitude of the Sun and the Moon are 180° and 80° respectively for any day, then what is the Tithi corresponding to that
day?

1. Suklapaksa Astmr

2. Suklapaksa Saptani
3. Krsnapaksa Saptam
4 Krsnapaksa Astmr
Options :
22742759345, 1
22742759346. 2
22742759347. 3

22742759348. 4

Question Number : 62 Question Id : 22742715233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
afe, fepdit fo g 2R <5 @1 QR HH: 180° 71 80° &, 1 I oA i 9t fafy geflo

1. Qo] U&f SApH
2. 9[a U 9]
3. P U& GGH]
4. ] Ug AP

Options:

22742759345. 1
22742759346. 2
22742759347.3

22742759348. 4

Question Number : 63 Question Id : 22742715234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following astangas is characterized by Sthairya (steadily) and Saukhya (ease/comfort) of the body

1. Dharana

2. Dhyana

3. Pratyahara

4 Asana

Options :
22742759349. 1
22742759350. 2
22742759351. 3

22742759352. 4

Question Number : 63 Question Id : 22742715234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fFafeiad # 9 &1 91 2P IR & WY 3R e &1 [92udl 82

1. §RU

2. ®d

3. g'»*-’.lo q

4. 31
Options:
22742759349. 1
22742759350. 2
22742759351. 3

22742759352. 4

Question Number : 64 Question Id : 22742715235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Jalandhara bandha is applied near the region of the

. Head crown

. Throat/neck

- Pelvis/hip

- Stomach/navel

[ s

o

Options :

22742759353. 1
22742759354. 2
22742759355. 3

22742759356. 4

Question Number : 64 Question Id : 22742715235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SdeR §Y Fufiad ¥ U fog &9 & Hde Suged fadl oiidl 82

1. R

Options:

22742759353. 1
22742759354, 2
22742759355. 3

22742759356. 4

Question Number : 65 Question Id : 22742715236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Afijana is a technical term in Ayurveda for

1. Mother of Hanumana
2. Unknown factors

3. Sticky ointment for eye
4. Agent of change
Options :
22742759357. 1
22742759358. 2
22742759359. 3

22742759360. 4

Question Number : 65 Question Id : 22742715236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
3rgde # 3o FEfRad & o do-iie) U &

1. eJHH ﬁ-_—f
2. AT PRSP

4 gRadd &1 PR

Options:

22742759357. 1
22742759358. 2
22742759359. 3

22742759360. 4

Question Number : 66 Question Id : 22742715237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a tattva derived from Prakrti as enunciated in the Sankhya

1. Ahankara

2. Buddhi

3. Purusa

4 Tejas
Options :
22742759361. 1
22742759362. 2
22742759363. 3

22742759364. 4

Question Number : 66 Question Id : 22742715237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759361. 1
22742759362. 2
22742759363. 3

22742759364. 4

Question Number : 67 Question Id : 22742715238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the main purpose to erectb a stupa

1. To accommodate pilgrims

2. To preserve Buddha's teachings

3. To keep Buddha's relics

4. To commemorate place the Buddha visited

Options :

22742759365. 1
22742759366. 2
22742759367. 3

22742759368. 4

Question Number : 67 Question Id : 22742715238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

U A0 &1 7 J53g 41 U?

1. ol o1 383H

2. g Bl fRgmafl &1 WRiad &

3. 9= & Y IR DI TG

4. g S RH R T4 U 981 FRS &0
Options:

22742759365. 1

22742759366. 2

22742759367. 3

22742759368. 4

Question Number : 68 Question Id : 22742715239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Where do you find the rock-cut cave named as Ravana-pahadi™?

. Ellora
 Ajanta
_Aihole

. Elephanta

[

o

Options :

22742759369. 1
22742759370. 2
22742759371.3

22742759372. 4

Question Number : 68 Question Id : 22742715239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IAUIETSr TH® Qd-d 6] Bal 82
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Options:

22742759369. 1
22742759370. 2
22742759371.3

22742759372. 4

Question Number : 69 Question Id : 22742715240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which is one of the deepest and largest step well in India

. Suraj Kund

. Chand Baori
_Rani ki Vav
- Adala

[ s

o

Options :

22742759373. 1
22742759374. 2
22742759375. 3

22742759376. 4

Question Number : 69 Question Id : 22742715240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YR &1 a4 T8 3R 999 91 GUIAdE $Y B 91 2?

1. Hj*}l D3

2 digdids

3. YHI DI 919

4. G.a\ 3
Options:
22742759373. 1
22742759374, 2
22742759375. 3

22742759376. 4

Question Number : 70 Question Id : 22742715241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In Nagara style temples, where do you usually find the images of river Goddesses Ganga and Yamuna?

1. Garbhagrha Entrance
2. Mandapa Entrance

3. Sikhara walls

4. Amalaka

Options :
22742759377. 1
22742759378. 2
22742759379. 3

22742759380. 4

Question Number : 70 Question Id : 22742715241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AR e & HieRT 5, &dt 71 3R g Afeat & F g o8

At e = 3

Hdd 82
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Options:

22742759377. 1
22742759378. 2
22742759379.3

22742759380. 4

Question Number : 71 Question Id : 22742715242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which is the most ancient SulbasTtra text

1. Baudhayana
2. Apastamba

3. Katyayana

4 Manava
Options :
22742759381. 1
22742759382. 2
22742759383. 3

22742759384. 4

Question Number : 71 Question Id : 22742715242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T U Yoo gd IY B 182

1. SI4EA

2. AT

4 {49
Options:
22742759381. 1
22742759382. 2
22742759383.3

22742759384. 4

Question Number : 72 Question Id : 22742715243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the number corresponding to “Bana/dltl” as per Aryabhatan System?

23
38
35
05

[

o

Options :

22742759385. 1
22742759386. 2
22742759387. 3

22742759388. 4

Question Number : 72 Question Id : 22742715243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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23
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Options:

22742759385. 1
22742759386. 2
22742759387.3
22742759388. 4

Question Number : 73 Question Id : 22742715244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the number associated with the word “Parardha/gd 2

1.40"

24010

3408

4. 1018
Options :
22742759389. 1
22742759390. 2
22742759391. 3

22742759392. 4

Question Number : 73 Question Id : 22742715244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
WY Weq, ¥ Heiferd Fem Fgfafed 3 4 o 4 g2

1.10"

24010

3408

4. 1018
Options:
22742759389. 1
22742759390. 2
22742759391. 3

22742759392. 4

Question Number : 74 Question Id : 22742715245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



As per Bhutasankhya system, what is the number encoded in the phrase "Aditya-rudra-vibudha-vasu"

1. 8331121

2. 12111338

3. 2111338

4 8331112
Options :
22742759393. 1
22742759394. 2
22742759395. 3

22742759396. 4

Question Number : 74 Question Id : 22742715245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Yd =1 Ugd & S9R, FEfaRad ueey o deag 987 ®F 41 82 'fed-$5-[ag4-ayg

833 11 21
12111 338
2111338
8331112
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Options:

22742759393. 1
22742759394, 2
22742759395. 3

22742759396. 4

Question Number : 75 Question Id : 22742715246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Damascus Sword’ is made from which of the following?

1. Wootz Steel

2. Low-Carbon Steel

3. Pure Iron

4. Alloy of lIron & Copper

Options :
22742759397. 1
22742759398. 2

22742759399. 3

22742759400. 4

Question Number : 75 Question Id : 22742715246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SftRe T FEfafed & © iy og @1 941 82

2. Y& i
4. TiiE Ud % &1 MY UIg

Options:

22742759397. 1
22742759398. 2
22742759399. 3
22742759400. 4

Question Number : 76 Question Id : 22742715247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The term ‘Arakita’ refers to which one of the following?

1. Alloy of six metals

2. Brass: alloy of copper & zinc
3. Bronze: alloy of copper & tin
4. Alloy of Copper & Gold
Options :

22742759401. 1
22742759402. 2
22742759403. 3

22742759404. 4

Question Number : 76 Question Id : 22742715247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YR Ug FiiiEd | ¥ fad dafed g2

1. B YIgel § 491 Yy

2. T 3R o1& & {0y 91g : Uldd
3. 0% 3R o &1 3y U1 - $i
4. 19 3R ol &1 0y urg
Options:

22742759401. 1
22742759402. 2
22742759403, 3

22742759404. 4

Question Number : 77 Question Id : 22742715248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In Rasarnava while describing the flame test for metals, which of the following colour is mentioned corresponding to lead (Pb)?

1. Pale-tinted

2. Pigeon-Coloured

3. Tawny

4. Bright yellow
Options :
22742759405. 1
22742759406. 2
22742759407. 3

22742759408. 4

Question Number : 77 Question Id : 22742715248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ST o " TRIGT &1 90 $Yd §U TIid H Wi (Pb) § Heifd o 3 § oo vl @1 Jeod ol T 2

2. BUld-a

4 TGfoAH did
Options:
22742759405. 1
22742759406. 2
22742759407. 3

22742759408. 4

Question Number : 78 Question Id : 22742715249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



While describing metals is Rasarainasamuccaya the term ‘Rasendra vedha safijatam’ is used for which of the following metal?

1. Gold

2. Silver

3. Copper

4 lron

Options :
227427594009. 1
22742759410. 2
22742759411. 3

22742759412. 4

Question Number : 78 Question Id : 22742715249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TRAGY ¥ Y 1 q0H S G T8 oY TSl UG ol T Fafeifi 3 4 fog o o forw fopan v 22

1 %

2. 3e[d
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4.

Options:
22742759400. 1
22742759410. 2
22742759411. 3

22742759412. 4

Question Number : 79 Question Id : 22742715250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The famous physician Jivaka was a disciple of:

. Caraka

. Bhiksu Atreya
- Susruta

- Sukracarya

[ s

o

Options :

22742759413. 1
22742759414. 2
22742759415. 3

22742759416. 4

Question Number : 79 Question Id : 22742715250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e ffras Sioe FeRiEd 3§ 4 e e 47

Options:

22742759413. 1
22742759414. 2
22742759415.3

22742759416. 4

Question Number : 80 Question Id : 22742715251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following text does not have a section on Viksayurveda?

1. Arthasastra

2. Agni Purana
3. Brhat Samhita
4. Padma purana
Options :
22742759417. 1
22742759418. 2
22742759419. 3

22742759420. 4

Question Number : 80 Question Id : 22742715251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759417. 1

22742759418. 2

22742759419. 3

22742759420. 4

Question Number : 81 Question Id : 22742715252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Upavana Vinoda is a part of which of the following text

1. Mahabharata

2. Ramayana

3. Sarmgadhara Paddhati
4 Vrksayurveda
Options :
22742759421. 1
22742759422. 2
22742759423. 3

22742759424. 4

Question Number : 81 Question Id : 22742715252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
39aH faHIg FafeiRad § 9 g 3y &1 HFT 87

1. HETHRA
2. IHYU

3. QTR UG
4. g&Tgde
Options:
22742759421. 1
22742759422. 2
22742759423. 3

22742759424. 4

Question Number : 82 Question Id : 22742715253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is a treatise on diseases of horses and their treatment by Raja Bhoja ?

1. Asvavaidyaka
2. Salihotra

3. Asvasastra

4. Asvayurveda
Options :
22742759425. 1
22742759426. 2
22742759427. 3

22742759428. 4

Question Number : 82 Question Id : 22742715253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

3%l @1 SHIRYT 3R I IUIR § e I HISl gRI Fa Wae FHafiiad 5 § o 982
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Options:
22742759425. 1
22742759426. 2
22742759427.3

22742759428. 4

Question Number : 83 Question Id : 22742715254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



There are many Ragas which are more or less similarly sounding in Camatic & Hindustani forms of music. Which one among
the following is not one of such pairs?

1. Mayamalavagaulai - Bhairav
2 Hindolam - Malakauns

3. Hamsanandi - Sohini

4 Hanumatodr- todi
Options :
22742759429. 1
22742759430. 2
22742759431. 3

22742759432. 4

Question Number : 83 Question Id : 22742715254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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R e
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4 TS - S0
Options:
22742759429. 1
22742759430. 2
22742759431, 3

22742759432. 4

Question Number : 84 Question Id : 22742715255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Sankirtana is the specific name of a ritual singing, drumming and dancing often based on the life of Krsna. This art
form, inscribed in the UNESCO list of intangible world heritage, is practiced in which geographical area?

1. Odisha

2. Manipur

3. Brij

4 Saurashira

Options :
22742759433. 1
22742759434. 2

22742759435. 3

22742759436. 4

Question Number : 84 Question Id : 22742715255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742759433. 1
22742759434, 2
22742759435. 3

22742759436. 4

Question Number : 85 Question Id : 22742715256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Padamsim Teejan Bai is associated with which of the following art form?

1. Baul gana

2. Lavani

3. Gamaka grte
4. Pandavani art
Options :
22742759437. 1
22742759438. 2
22742759439. 3

22742759440. 4

Question Number : 85 Question Id : 22742715256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
usr <o a18 Ffigd | O 69 ool U § JafEd 82

1. didhdd M-

2. <idu]

3. & Tid

4. UgIa-1 dal
Options:
22742759437. 1
22742759438. 2
22742759439. 3

22742759440. 4

Question Number : 86 Question Id : 22742715257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Caturasra jati triputa tala of Carnatic music is popularly known by which of the following name?

1. RUpaka

2. Adi

3. Misra Capu

4. Jampa
Options :
22742759441. 1
22742759442, 2
22742759443, 3

22742759444, 4

Question Number : 86 Question Id : 22742715257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Bice Hiild B I id FHYE drd Fyiiad 3 9 g 9 4 dieiud 82

1. &0

2 3fg

3. By =g

4 &g
Options:
22742759441, 1
22742759442, 2
22742759443, 3

22742759444, 4

Question Number : 87 Question Id : 22742715258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the national epic of Cambodia?

1. Ramakerti

2. Ramakien

3. Hikayat Seri Ram

4. Ramachandra Kidung
Options :
22742759445, 1
22742759446. 2
22742759447. 3

22742759448. 4

Question Number : 87 Question Id : 22742715258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
mﬂTﬁzg T HgTdTe] i 91 82

Options:

22742759445. 1
22742759446. 2
22742759447.3
22742759448. 4

Question Number : 88 Question Id : 22742715259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The city named Prambanan existed in which of the following country (or Kingdom) of south-east Asia:

1. Siam

2 Bali

3. Sumatra

4 Java
Options :
22742759449, 1
22742759450. 2
22742759451. 3

22742759452. 4

Question Number : 88 Question Id : 22742715259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e 98 e Fgfafed O O fey afamrgd uikms e @1 ue) 4 faemE o

1. Ta3m

2. |

3. HHE

4 Sdr
Options:
22742759449, 1
22742759450. 2
22742759451, 3

22742759452. 4

Question Number : 89 Question Id : 22742715260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The famed university of Nalanda in ancient India, was partly funded by:

5 Vijaya Kings of Sumatra
- Nandi Varman of Cambodia
. 5ri Nara of Champa

. Sanjaya of Java

[

o

Options :

22742759453. 1
22742759454, 2
22742759455. 3

22742759456. 4

Question Number : 89 Question Id : 22742715260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R Arcial faufaeey WA YRd § i3 [y gr1 faaifa ure

1. QEEAT & 91 faerg
2 Halfaa & Afgars
3 90T & 4R

Options:

22742759453. 1
22742759454, 2
22742759455. 3

22742759456. 4

Question Number : 90 Question Id : 22742715261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following people, in ancient times, was referred as ‘Krsna Yavana' or Dark Greeks?

1. Huns

2. Cambodians

J. Ethiopians

4 Persians
Options :
22742759457. 1
22742759458. 2
22742759459, 3

22742759460. 4

Question Number : 90 Question Id : 22742715261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T ®1a | FafEaiad 5 U fé SRl &) $%1 98- 31 Sic 31 ol oidl 417

1. §UIf @l

2. Dalfsyr aredl ®f
3. SiuEiYaT ardl &
4. BRI &l
Options:
22742759457. 1
22742759458, 2
22742759459. 3

22742759460. 4

Question Number : 91 Question Id : 22742715262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of these are branches of the Samaveda
A_Kauthuma

B. Ranayaniya

C. Taittimya

D. Sakala

E. Kathaka

1. AB only

2. AB.E only

3. C,D.E only

4 B,C,D only
Options :
22742759461. 1
22742759462. 2
22742759463. 3

22742759464. 4

Question Number : 91 Question Id : 22742715262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G @1 9N FEfaigd # 9 o 11 52
A DIYH
B. IO

C. dmig

1. PAT A IR B

2 HadA B3RE
3. ®maadC DIARE
4 HAdB. C3ARD
Options :
22742759461. 1
22742759462. 2
22742759463. 3

22742759464. 4

Question Number : 92 Question Id : 22742715263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are mentioned as ones among the trinity of devis in the Rgveda
A lla

B. Laksmit

C. Sarasvati

D. Bharati

E. Parvatt

1. B,D only

2. A.C.Donly
3.B,C.D, only
4. B,D.E only

Options :

22742759465. 1
22742759466. 2
22742759467. 3

22742759468. 4

Question Number : 92 Question Id : 22742715263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1]

ARl
B. weFt
C. TGl
D. YRl
E. Grddi
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1. $dd B IR D

2 HadA C3RD
3. ®adB. C 3R D
4 HadB D3IRE
Options :
22742759465. 1
22742759466. 2
22742759467. 3

22742759468. 4

Question Number : 93 Question Id : 22742715264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"5a’ is which of the following
A Alpaprana

B. Mahaprana

C. Danta

D. Kantha

E. Mardha

1. A.C only
2. AD only
3. B.E only
4 B,C only

Options :

22742759469. 1
22742759470. 2
22742759471.3
22742759472. 4

Question Number : 93 Question Id : 22742715264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Fuffea § 3 & e?
A STHT

B. HETHITI

C.od

D. &3

E

8,

-

-1

-

U e fAdhedi § 9 U8l SR T -

o

1. PATA AR C
2 HAd A IR D
3. Had B AR E
4 HAdB AR C
Options :

22742759469. 1
22742759470. 2
22742759471. 3

22742759472. 4

Question Number : 94 Question Id : 22742715265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following has Mahat Pramana
A. Dvyanukam

B Triyanukam

C. Caturanukam

D). 10- caturanukam

E. Paramanu

1. AB,C,D,E only
2. C,D,Eonly
3.B,C.Donly

4 B,C.D.E only

Options :

22742759473. 1
22742759474. 2
22742759475. 3

22742759476. 4

Question Number : 94 Question Id : 22742715265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FrofeRad & 4 foud Jed W gl 82
A. BOUDH

B. FAUDH

C. IRUIPH

D. 10-SqR&H

E. WA

i< feu 7Y fadedl § ¥ 98I SR I

1.A B C. D3RE

2 HadC DARE
3. ®adB. C 3R D

4 HadB. C D3IRE
Options :
22742759473. 1
22742759474, 2
22742759475. 3

22742759476. 4

Question Number : 95 Question Id : 22742715266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is a ‘Rupa’ in Nyaya Sastra
A Sveta

B. Nila

C. Pita

D. Citra

E. Kapisa

4 C,D,E only

Options :

22742759477. 1
22742759478. 2
22742759479. 3

22742759480. 4

Question Number : 95 Question Id : 22742715266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e | FefifEd § 8 w0 A 9 82
A 34

B. Hia

C. Uid

D. faF

E. &y

Hd feu T fgwedi § Y U1 S A -

1. $ddA B C3RD
2 HadA B3R C
3 A.B CD3RE
4 HAAC DIARE
Options :
227427594771
22742759478. 2
22742759479. 3

22742759480. 4

Question Number : 96 Question Id : 22742715267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following were instrumental in the development of Advita Visista
A_Nadamuni

B. Ramanuja

C. Yamunacarya

D. Nimbarka

E. Nagarjuna

1. AB,C only
2.B,C.Donly
3. B,D.E only
4 A B.E only

Options :

22742759481. 1
22742759482. 2
22742759483. 3
22742759484. 4

Question Number : 96 Question Id : 22742715267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. ®adB D3IRE
4 HadA B3ARE
Options :
22742759481. 1
22742759482. 2
22742759483, 3

22742759484. 4

Question Number : 97 Question Id : 22742715268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the wrong pairs of rasi-naksatra combinations from the following
A Karkataka, Punarvasu- third quarter

B. Tula, Hasta first quarter

C. Mithuna, Punarvasu first quarter

D. Mina, Purvabhadrapada first quarter

E. Simha, Magha second quarter

1. AB and E only
2.C,DandE only
3. B,C and D only
4 AB and D only

Options :

22742759485. 1
22742759486. 2
22742759487. 3

22742759488. 4

Question Number : 97 Question Id : 22742715268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fofafad 5 9 afAem & Tad g & ffgd sifen

A Hhed, G4Y Jaid UIg

B. a7, B UYH UTg

. YA, TAdg uyH Urg

D. #iF, JdHIgUG 94H UlG

E. fig Aurfadg g

Hd feu T fgwedi § Y U1 S A -
1. $ddA B3RE

2 HadC DIARE

3. ®adB. C 3R D

4 HAdA B3RD

Options:

22742759485, 1

22742759486. 2

22742759487. 3

22742759488. 4

Question Number : 98 Question Id : 22742715269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following words denote year names in traditional Indian astronomy?

C. Viplava
D Vilamba
E. Plava

1. AB & Conly
2.B,C & Eonly
3.B.D & E only
4 AC&D only

Options :

22742759489. 1
22742759490. 2
22742759491. 3

22742759492. 4

Question Number : 98 Question Id : 22742715269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FafRad # 9 &1 ¥ Ueg URURS YR SRR & a8 & -1 &1 Sifdd &d 87
A 3R
B. 32X
C. fawa
D. fadie

E Wid

TRt muiea d T W SR T

1. Pad A B3R C
2 HIAB. C 3R E
3. HIAB. D 3R E
4 HIAA C3RD
Options :
227427594809. 1
22742759490. 2
22742759491. 3

22742759492. 4

Question Number : 99 Question Id : 22742715270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are characteristics of Tamoguna
A Lightness

B. llluminating nature

C. Impelling action

D. Heaviness

E. Dullness

1. C,D,E only
2.D,Eonly
3. ADonly
4. A E only

Options :

22742759493. 1
22742759494, 2
22742759495. 3

22742759496. 4

Question Number : 99 Question Id : 22742715270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A & SifHE T FEfiEd e P I g
A. TiTad

B. Uciw Udbid

C. IR ol

Options :

22742759493. 1
22742759494, 2
22742759495. 3

22742759496. 4

Question Number : 100 Question Id : 22742715271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are listed as Niyamas in the Patafijala Yoga Siatras
A Sauca

B. Svadhyaya

C. Santosa

D. Tapah

E. ISvara- Pranidhana

.A.B,C,D,E only
.A.B,C,D only

- A.C.D only

- Aonly

[

N =9

Options :

22742759497. 1
22742759498. 2
22742759499. 3

22742759500. 4

Question Number : 100 Question Id : 22742715271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qTceie I A1 H alag e Feiaad S 4 sE E E?
A T

B. W

C g

D. T4

E. $3R-uforee

i< feu 7Y fadedl § ¥ 98I SR I

1.A B C. D3RE

2 ®ad A B. C3RD
3. ®adA C3HRD

4 Had A

Options :
22742759497. 1
22742759498, 2
22742759499, 3

22742759500. 4

Question Number : 101 Question Id : 22742715272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are functions of Vata are?
A_ Bladder movement

B. Defecation

C. Child birth

D. Swallowing food

E. Speech

.A.B,C only
.A.B,C,D only

- A.C.D only
.A.B,C,D,E only

[

N =9

Options :

22742759501. 1
22742759502. 2
22742759503. 3

22742759504. 4

Question Number : 101 Question Id : 22742715272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ard & d FufefEd H 9 &H 4 82
A TRE SaeH

B. ATdN

C. 9 &1 94

D. U

E.a@

Hd feu T fgwedi § Y U1 S A -

1. $ddA B3R C

2 Had A B. C3RD
3. ®adA C3HRD
4 ABCD3RE
Options :
22742759501. 1
22742759502. 2
22742759503. 3

22742759504. 4

Question Number : 102 Question Id : 22742715273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify the components of a temple
A Garbhagrha

B. Vairgja

C. Adhisthana

D. Stamba

E. Puspaka

1. A.B and C only
2. A.CandD only
3. B,.D and E only
4 C,D and E only

Options :

22742759505. 1
22742759506. 2
22742759507. 3
22742759508. 4

Question Number : 102 Question Id : 22742715273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR & ged! B fafgd Hifere -
A THTE

B. 431l

C. JATUFH

D. &Y

E. Q%@

- = -

TRt tsa § Y I TR I -

1. $ddA B3R C
2 HadA C3RD
3. ®adB D3IRE
4 HAAC DIARE
Options :
22742759505. 1
22742759506. 2
22742759507. 3

22742759508. 4

Question Number : 103 Question Id : 22742715274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the subdivisions of Nagara style temples
A. Rekha-pida

B. Kata

C. Sala

D. Valabhr

E. Phamsana

1. A.B and C only
2.B,C and D only
3. A.D and E only
4 C,D and E only

Options :

227427595009. 1
22742759510. 2
22742759511. 3

22742759512. 4

Question Number : 103 Question Id : 22742715274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. HadA D3IRE
4 HAAC DIARE
Options :
227427595009. 1
22742759510. 2
22742759511. 3

22742759512. 4

Question Number : 104 Question Id : 22742715275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The terms used for Rsine in Indian Mathematics are:
A_ Koti

B. Bahu

C. Bana

D. Guna

E.Jya

1. C,D and E only
2.B.D and E only
3. A.C and E only
4 B,C and E only

Options :

22742759513. 1
22742759514. 2
22742759515. 3
22742759516. 4

Question Number : 104 Question Id : 22742715275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRS TG # R 9157 & o0 W99 UG &
A @IS
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D. 77T
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1. $ddC. D 3ARE
2 HadB D3IRE
3. Had A C3iRE
4 HadB. C3IRE
Options :
22742759513. 1
22742759514, 2
22742759515. 3

22742759516. 4

Question Number : 105 Question Id : 22742715276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among the following, which all terms represent subtraction:
A_Dhana

B. Rna

C. Sodhya

D. Hanana

E. Ghana

1. A& B only

2. C&D only
3.B & C only

4 D &E only
Options :
22742759517. 1
22742759518. 2
22742759519. 3

22742759520. 4

Question Number : 105 Question Id : 22742715276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. B0l

C. T

DB+
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Hd feu T fgwedi § Y U1 S A -

1. PAT A IR B
2 HAd C 3R D
3. ®adB AR C
4 HadD AR E
Options :

22742759517. 1
22742759518. 2
22742759519, 3

22742759520. 4

Question Number : 106 Question Id : 22742715277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among the following, which all represent the number 108 as per Katapayadi system of numeration?
A Dhanikah

B. Nartakr

C. Janakt

D. Yacakt

E. Danakah

1.C&E only
2. A&Conly
J. B&Eonly
4 D&E only

Options :

22742759521. 1
22742759522. 2
22742759523. 3
22742759524. 4

Question Number : 106 Question Id : 22742715277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R Bl BeUgNG Usid & IR FERgd § ¥ ®F 9 Ug ‘108" G831 ®I FRiUd &id 57
A U

B. Tl

C. SF®

D T

E. Q&

r feu e fapedl # € W61 SR -

1. BIAC 3R E
2 FATAIRC
3. $ad B 3ARE
4 HAAD AR E
Options :
22742759521. 1
22742759522, 2
22742759523. 3

22742759524. 4

Question Number : 107 Question Id : 22742715278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The types of Kanta loha described in Rasaratnasamuccaya are:
A_Bhramakam

B. Kundam

C. Cumbakam

D). Karsakam

E. Kadaram

1. A.C.E only
2.A.C.Donly
3.B,D, E only
4 A B,C only

Options :

22742759525. 1
22742759526. 2
22742759527. 3

22742759528. 4

Question Number : 107 Question Id : 22742715278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TRy ¥ IfcafEd oid dlg & UaR #1852
A. TG

B.®sH

C. g@H

D. BYDHH

E. ®3RH

i< feu 7Y fadedl § ¥ 98I SR I

1. PIdA C3HRE
2 HadA C3RD
3. ®adB D3IRE
4 HAdA B3R C
Options :
22742759525. 1
22742759526. 2
22742759527. 3

22742759528. 4

Question Number : 108 Question Id : 22742715279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are Maharasa according to Rasamava?
A Puspaiijanam

B. Vimalam

C. Sailam

D. Capalam

E. Sinduram

1. AB,C only
2. C,D,Eonly
3. AD.E only
4 B,C.Donly

Options :

22742759529. 1
22742759530. 2
22742759531. 3

22742759532. 4

Question Number : 108 Question Id : 22742715279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U & 3R HeRY Fufafad § 8 &
A IS

B. famaH

c. T

D. 9UTH

E. R&xH

TRt tsa § Y I TR I -

1. $ddA B3R C
2 HadC DIARE
3. HadA D3IRE
4 HAdB. C3ARD
Options :
22742759529. 1
22742759530. 2
22742759531. 3

22742759532. 4

Question Number : 109 Question Id : 22742715280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following metals were expounded by Bhudeb Mukherjee in his Rasajalanidhi written in early 20" century
A. Mercury

B. Gold

C. Silver

D. Aluminium

E Sodium

1.AD.E only
2.AB,C only
3.B,C.D only
4.CD,E only
Options :
22742759533. 1
22742759534, 2
22742759535. 3

22742759536. 4

Question Number : 109 Question Id : 22742715280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2061 T&1-qd ¥ fafed o+ Ty Toereiaf | Yed T - Fofifed § 9 o7 uiged o cars & e
A TRT
B. W0
C. 3o

D. Ty AT
E. Tifsgn
TRt f T TSR

1. HadA DIRE
2 BadA B3R C
3. BadB. C IR D
4 BIAC D IARE
Options :

22742759533, 1
22742759534, 2
22742759535. 3

22742759536. 4

Question Number : 110 Question Id : 22742715281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the types of lands classified by Caraka and Susruta accoding to the nature?
A_Jangala

B. Mandara

C. Andpa

D. Sadharana

E. Padmint

1. AB and C only
2. A CandD only
3. B,C and D only
4. C,D and E only

Options :

22742759537. 1
22742759538. 2
22742759539. 3
22742759540. 4

Question Number : 110 Question Id : 22742715281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i N T

Tdhid & HTUR b AR YYd gR1 d¥ied HH & USRI o fafgd Sifag:

A ST
B. HaR
C. 3 U
D. QIR
E. ORHE

i< feu 7Y fadedl § ¥ 98I SR I

1. $ddA B3R C
2 HadA C3RD
3. ®adB. C 3R D
4 HAAC DIARE
Options :
22742759537. 1
22742759538, 2
22742759539, 3

22742759540. 4

Question Number : 111 Question Id : 22742715282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Rgveda divides the plants into the following broad categories:
A Vrksa

B. Ausadi

C. Virudha

). Parma

E. Puspa

1. AD.E only
2.AB, &C only
3. B,C,D only

4. C,D.E only
Options :
22742759541. 1
22742759542, 2
22742759543. 3

22742759544. 4

Question Number : 111 Question Id : 22742715282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FidG | UGyl of FEfiad 61 aage eifeal 3 fayiforg foear ma g2
A T8

B. fTufy

c. favg

D. guf

E oW

=

i< feu 7Y fadedl § ¥ 98I SR I

1. $ddA D3R E
2 HadA B3R C
3. ®adB. C 3R D
4 HAAC DIARE
Options :
22742759541. 1
22742759542, 2
22742759543, 3

22742759544. 4

Question Number : 112 Question Id : 22742715283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are counted among the Natya Vrttis
A_Bharafi- Verbal

B. Sattvafr- Grand

C. KaisiKi- Graceful

D. Grtavaf- Lyrical

E. Arabhafi- Energetic

1. B,C.D.E only
2. AB,CE only
3. AB,C,D only
4 A B.E only

Options :

22742759545. 1
22742759546. 2
22742759547. 3

22742759548. 4

Question Number : 112 Question Id : 22742715283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafafad 3 9 feaw! e gital 391 9l 82
A HITGl - Sfea®
B. 9T@d! - HA

C. B! - TiAmg

D. Tidrgd! - ¥cdg
E. 3RY - IAEH

i< feu 7Y fadedl § ¥ 98I SR I

1.B.C. D 3R E ®ad
2 A B C 3R Edad
3.A B C 3R Ddad
4 A B 3R E &ad
Options :
22742759545, 1
22742759546. 2
22742759547. 3

22742759548. 4

Question Number : 113 Question Id : 22742715284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are Melakarta Ragas as per the Samptima Mela Paddhati of Carnatic music
A Meca kalyani

B. Mohana

C. Kharaharpriya

D. Kiravani

E. Mayamalavagaula

1.AB,C,D only
2.AB,CE only
3. ACD.Eonly
4 A C.Eonly

Options :

22742759549. 1
22742759550. 2
22742759551. 3

22742759552. 4

Question Number : 113 Question Id : 22742715284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Bicd Giild & Sy Ha Usid @ SER FEiaRad H § S1H-9 Hedbdl I 52
A HT Sl

B. Hlg

C. T

D. HRaTf

E ArTEcaic

Hd feu T fgwedi § Y U1 S A -

1. ®ddA B, C3R D
2. BddA B, CIHRE
3. BAAA C D IRE
4 HAAA. CIHRE
Options :
22742759549, 1
22742759550. 2
22742759551, 3

22742759552. 4

Question Number : 114 Question Id : 22742715285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Sanskrit words are borrowed from Greeks?
A_Kendra

B. Kalama

C. Pustaka

D. Varuna

E. Pitr

1. B,C.D only

2. AD.E only

3. C,D.E only

4 A B,C only
Options :
22742759553. 1
22742759554, 2
22742759555. 3

22742759556. 4

Question Number : 114 Question Id : 22742715285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FofeRad & 9 ®1F 9 % st g1 9 7ol T 82
A 5

B. ®aH

C. T

D. T

E T

'l

kd

SR

=

17U fadbed H 9§ 91 SR g -

1. $ddB. C3RD
2 Had A D3IRE
3. ®maadC DIARE
4 HAdA B3R C
Options :
22742759553, 1
22742759554, 2
22742759555. 3

22742759556. 4

Question Number : 115 Question Id : 22742715286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following personalities played important role in spreading Indic culture & ideas in China, in ancient times?
A Kumarajiva

B. Devaraja
C. Paramartha
D. Kaundinya
E. Vinitaruci

1.A.CE only
2.B,C.Donly
3. ADE only
4. C.DEonly

Options :

22742759557. 1
22742759558. 2
22742759559. 3

22742759560. 4

Question Number : 115 Question Id : 22742715286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fafaRed 5 9 o safdal 3 o o | 99 H HRGG SrRHTE TReld & TR § Teayy Y Fae?
A FHRHIG

B. AR

C. WA

D. FIU5Y

E_fafarefa

Al féT 70 foded # 4 W SR T -

1. BadA CIHRE
2 $30B, CARD
3. BaqA DIRE
4 H3qC DIRE

Options :

22742759557. 1
22742759558. 2
22742759559. 3

22742759560. 4

Question Number : 116 Question Id : 22742715287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List 1 with List lI

List | Temples List Il Kings/Generals

A_Shore temple, Mahabalipuram  |Raja Jajati Kesari

B. Brhadisvara temple, Thanjavur |[Camundaraya

C.Gomatesvara, Sravana Belagola|Raja-Raja chola

D Lingaraj temple, Bhuubaneswar |Nara Simha varman ||

1. Al B-IV, C-ll, D-|
2. AV, B C-lI, D
3. AL, B, G-I, DAV
4 A, B-IV, C-lI, DI



Options :

22742759561. 1
22742759562. 2
22742759563. 3

22742759564. 4

Question Number : 116 Question Id : 22742715287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gt -1 B G -1l O gafd Hifer
T 1 - AR T 11 — T EAT

A. e Hiez, AeTafergwH |I. I ST dEd

B. SEai%T Aiex, dua |Il. SIS

C. TIHCHY, YGOSR |1l Ie-Tral 9ie
D. femrel AfeR, Y|V, Ridgas I
d feu e faedl o ¥ Ugl 3R g :

1.A=-IILB-IV,C-II,D-
2A-IV,B-1Il,C-1l,D -
JA-IILB-ILC-I,D-IV
4 A-1,B-IV,C-II,D-Il

Options:

22742759561. 1
22742759562. 2
22742759563. 3

22742759564. 4

Question Number : 117 Question Id : 22742715288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List-1 List-lI

A Manava |. Antyasamskara
B.Bhaskara- II|ll. Sulbasutra
C.Madhava |lll. LTavair
D.Bhaskara-l |IV. Laghu- Bhaskarmyam

1. Al B-l, C-IV.D-lI
2. All, B-lII, C-, DIV
3. A, B-lll, C-lI, DIV
4 AV B-1. C-ll. D-I
Options :
22742759565. 1
22742759566. 2
22742759567. 3

22742759568. 4

Question Number : 117 Question Id : 22742715288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 DI gt -1l ¥ gaferd ifere
= - -

ATFFE || TSR

B. HIHY — 1|l Y=g

C HIYg |l Tt

D. HREHR — | |IV. TY-HERTH|
-t feu U fadedl H 9 98l SR gHT

1.A-NLB-1,C-IVD-I
2A-ILB-ILC-1,D-IV
JA-1LB-Il,C-IV,D-II
4 A-IVB-1,C-1l,D-1

Options :

22742759565. 1



22742759566. 2
22742759567. 3

22742759568. 4

Question Number : 118 Question Id : 22742715289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List Il

A_ The oriental renaissance Europe’s discovery of India and the east.||. Romain Rolland

B. A son of mother India answers Il. V.K.Chari

C. The life of Ramakrishna [ll. Dhan Gopal Mukerji
D. Whitman in the light of vedantic mysticism, an interpretation I'V. Raymond Schwab

1. A-l, B-IV, C-lII, D-lI
2. Al B, CHIIL DIV
3. AL B, C-1V, DA
4 A1V B-ll, C-I, DI
Options :
22742759569. 1
22742759570. 2
22742759571. 3

22742759572. 4

Question Number : 118 Question Id : 22742715289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gt -1 B G -1l O gafd Hifer

It | - ot i -

A § iRe=a e Wuw Sl AF s is g5 || U84 IS

B. U T 3% He< Sf&am o=as I 9t ard

C. & TI5F HIE THFI 1. & TITe Feat
D. f&eh 59 § Tise 3TF deiiue i, o7 s=awesm|Iv. TS 41

id feu e faedl & ¥ Uel 3wk g :

1A-ILB-IV,C-1lI,D-1
2A-11.B=-1,C-IllLD-IV
JA-ILB=-IILC-IV,D-I
4 A-IVB-IIlLC-1,D-I
Options :

22742759569. 1
22742759570. 2
22742759571. 3

22742759572. 4

Question Number : 119 Question Id : 22742715290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List-I List-ll

A vayu |l Vayu

B. dharana|ll. Bhuta
C.WWana (Il Tattva

D. Buddhi |IV. Astanga yoga

1. A-ll, B-IV, C-I, D-IlI
2. Al B-IV, C-lI, D-llI
3. A-lll, B-IV, C-I, D-lI
4 Al B-IvV, C-ll, DI
Options :
22742759573. 1

22742759574. 2



22742759575. 3
22742759576. 4

Question Number : 119 Question Id : 22742715290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Il -1 &1 Gl -1 Y gHied DIt -

- [ -
AT |I.9g
B. YTROMI. Mg
C. &M |l 7F
D. g% |IV. ST T

i feu U fadedl © U U8 SR 9T :

1LA-I,B-IVC-I1D-Il
2A-1,B-IV,C-I1l,D-1l
A= B-IV.C-I,D-I
4 A—IlLB-IV,C-1I,D-
Options :

22742759573. 1
22742759574. 2
22742759575. 3

22742759576. 4

Question Number : 120 Question Id : 22742715291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List | List I

A Ava |. Dhuma Varna Prabha
B. Ayaskanta|ll. Nana Vidha Prabha
C. Vajra l1l. Lohita Prabha

D. Sasyaka |IV. Kapila Prabha

1. AV B-l. C-ll. D-lI
2. Alll, B-IV, C-l, DI
3. All, B-llI, C-IV, D-|
4. A-l, B-ll, C-lIlI, DIV
Options :
22742759577. 1
22742759578. 2
22742759579. 3

22742759580. 4

Question Number : 120 Question Id : 22742715291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 DI gt -1l ¥ gaferd ifere
- [Eh-

A SR |l YT T wT
B. S|l TANGY THT
C. a9 1. TfEa W
D. §50% |IV. iU 74
-t feu U fadedl H 9 98 SR gHT -

1LA-IVB-ILC-Il,D-1lI
2A-ILB-IV,C-1,D-1l
JA-ILB-IIlLC-IV,D-I
4 A-1,B-IlLC-1ll,D-IV

Options :

22742759577. 1



22742759578. 2
22742759579. 3

22742759580. 4

Question Number : 121 Question Id : 22742715292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | List Il

A Candrall. Manas
B. Strya |Il. Mukha
C.Indra |lll. Prana

D.Vayu |[IV. Caksu

1. A, B-lI, C-ll, DIV
2. AL, B-l, Cll, DIV
3. Al B-IV, C-lIl, D-II
4 A-l B-IV, C-lI, DI
Options :
22742759581. 1
22742759582. 2
22742759583. 3

22742759584. 4

Question Number : 121 Question Id : 22742715292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

Tt - (G-
AT |ILFT
B |I.9E
C. g% [l 9o
D O |IV. 9§
T el 48 T TR AT

1LA-I,B-IIl,C-II,D-IV
2A-11,B-1,C-IlLD-IV
3A-1L,B-IV,C-IIl,D-I
4 A—1,B-IV,C—II,D-1l
Options:

22742759581. 1
22742759582. 2
22742759583. 3

22742759584. 4

Question Number : 122 Question Id : 22742715293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List Il

A Hotr |. Athanva
B. Adhvaryulll. Yojur
C. Brahma |lll. Rg

D. Udgatr |IV. 5ama

1. A, B-ll, G-I, D-IV
2. Al B-Il, G-I, DIV
3. Al B-l, C-Il, D-IV
4 A-ll, B-lll, C-l, D-IV

Options :

22742759585. 1



22742759586. 2
22742759587. 3

22742759588. 4

Question Number : 122 Question Id : 22742715293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T P 1 A gARE BT

Tt - (g -
A BTG | ard
B. Heaw||l. ToR
C. &=l | %7
D. 3%1q [IV. 9

d féu e faedl | ¥ wgl 3w g :

1A-I,B-I,C-I,D-IV
2A-lLB-IlL.C-I,D-IV
3JA-NILB-1,C-Il,D-IV
4 A—llLB-IIlLC-I,D-IV
Options :

22742759585. 1
22742759586. 2
22742759587. 3

22742759588. 4

Question Number : 123 Question Id : 22742715294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match the following descriptions of plants

List | List i
A.Hairy Stem l. hari

B. Goiden colour plant|ll. Babhru

C. Tawny colour plant |Ill. lomasa. vasana

D. Brown colour plant |IV. hiranya. vama

1. Alll, B-IV, C-ll, D-|
2. Al B, C-IV, DA
3. Al B-IV, C-l, D-II
4 AV, B, C-lI, D-

Options :

22742759589. 1
22742759590. 2
22742759591. 3
22742759592. 4

Question Number : 123 Question Id : 22742715294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 DI gt -1l ¥ gaferd ifere

= - = -
A TFgE T |ILER
B. aftfs auf-area|. 7y

C. it qui-urey I a9 g 754
D. X 1 %1 97ed |Iv. fevoa auf
-t feu U fadedl H 9 98 SR gHT

1.A-IILB-WV,C-Il,D-I
2A-ILB-1,C-IV,D-1l
JA-ILB-IV,C-1,D-Il
4 A-IVB-Ill,C-Il,D-I

Options :

22742759589. 1



22742759590. 2
22742759591. 3

22742759592 4

Question Number : 124 Question Id : 22742715295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | List [l

A uisaha |l. adbhuta
B. bhaya |ll. bibhatsa

C. jugupsa |lil. bhayanaka

D. vismayallVv. vira

1. A, B-ll, Cll, D-IV
2. Al B-lll, C-ll, DIV
3. A-IV, B-Il, C-lll, D-I
4 A-IV B-Ill, C-ll, D-I
Options :
22742759593. 1
22742759594, 2
22742759595. 3

22742759596. 4

Question Number : 124 Question Id : 22742715295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt
Tt - (G-

A. 3094 || 3gYd
B.HT Il §HW
C. ST, HaFS
D. faw|iv.ak

d feu e faedl & ¥ wgl SR g :

{ A= B=Il G0l D=V
2 A=1,B=NI,.C—I. D-IV
3 A= B=I.C=I.D-I
4 A-IV.B—1ILC—1I,D-I

Options:

22742759593 1
22742759594. 2
22742759595. 3
22742759596. 4

Question Number : 125 Question Id : 22742715296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List 11
A.Dhenavah ST ||. 4449
B. Bhavo hiyajyah [II. 1449
C. Dhanavan Putrah|lll. 2924°
D. Balena kulam  |IV. 6033’

1. A, B-lll, C-IV, D-lI
2. Al B-Il, G-IV, D-l
3. Al B-lll, G-I, DIV
4 A-lV, B-Il, C-lll, D-I

Options :

22742759597. 1



22742759598. 2
22742759599. 3

22742759600. 4

Question Number : 125 Question Id : 22742715296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl -1 DI gl -1l gHIAd it

- I -
A Oea st |1 4449

B. Hal & g 1449
C. ¥Fa 4= [IIl. 2924’
D. SO $oH|IV. 6033

d feu e famedl | ¥ wgl 3w g :

1A-I,B-IIlLC-IV.D-I
2 A-lLB-II,C-IV,D-
3JA-I1.B-IlLC-I,D-IV
4 A-IV.B-Il,C—Ill, D-
Options :

22742759597. 1
22742759598. 2
22742759599. 3

22742759600. 4

Question Number : 126 Question Id : 22742715297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following chandas/metre in the increasing order of lengths
A Anustup

B. Gayatim

C. Usnik

D. Jagafr

E. Tristup

A, B, CDE
.B,C,AED
BEACD
.G, D, BAE

[

N =9

Options :

22742759601. 1
22742759602. 2
22742759603. 3

22742759604. 4

Question Number : 126 Question Id : 22742715297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fFafafad @al & 390 96d o2 & $0 0 Jafd Sifee
A 1\3 b
B. T

C. 3f0®
D SFTal

E ey

Hd feu T fgwedi § Y U1 S A -

1.A,B,C,DE
2B,CAED
3B EACD
4 C,D,BAE

Options :

22742759601. 1
22742759602. 2
22742759603. 3

22742759604. 4

Question Number : 127 Question Id : 22742715298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events in the order in which they occur in the Mahabharata
A_Death of Karna

B. Death of Satyaki

C. Fall of Bhisma

D. Death of Ghatotkaca

E. Death of Abhimanyu

1.C,ED A B
2 EDB,CA
3.D,B,ACE
4 A/CDBE

Options :

22742759605. 1
22742759606. 2
22742759607. 3
22742759608. 4

Question Number : 127 Question Id : 22742715298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



it

qeHRd H Fgfaiad geamsif @ 39¢ 9fcd 84 & ©H § ogafiyd Sifag:

A B B Jg

B. O 3 §g

C. Ui &1 udq

D. geichd &1 g

E. JHHAY & 9g

i< feu 7Y fadedl § ¥ 98I SR I

1.C,EDAB
2 EDB,CA
3.0, B.A C.E
4 A/CDBE

Options :

22742759605. 1
22742759606. 2
22742759607. 3

22742759608. 4

Question Number : 128 Question Id : 22742715299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following vedic names of months in a sequential order
A Sahasya

B. Madhu

C. Una

D. Suci

E. Tapa

A, C,B,DE
.C,ED,BA
E,D,A B,C
.B,D,C, A E

[

N =9

Options :

227427596009. 1
22742759610. 2
22742759611. 3

22742759612. 4

Question Number : 128 Question Id : 22742715299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FofeRad afcs a1 & M @I 3HH § oaiyd Sifg
A Ted

B. 7Y

C. 3w

D. YA

E

=

-

-1

-

U e fAdhedi § 9 U8l SR T -

o

1.A,C, B,D E
2 C ED,BA
3.E,D,A B, C
4 B,D,CAE

Options :

227427596009. 1
22742759610. 2
22742759611. 3

22742759612. 4

Question Number : 129 Question Id : 22742715300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Naksatra-s in the increasing order of longitude
A_Dhanistha

B. Mrgasira

C. Hasta

D. Pusya

E. Jyestha

Options :

22742759613. 1
22742759614. 2
22742759615. 3

22742759616. 4

Question Number : 129 Question Id : 22742715300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fofafad 983 &1 3% CUaR & ded B (IR5! HH) # Haiyd Hifeg|
B. FER

C. B3

Options :

22742759613. 1
22742759614. 2
22742759615. 3
22742759616. 4

Question Number : 130 Question Id : 22742715301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the tattvas of Sankhya in the order of emergence. Amongst the tattvas that are at the same level, the ordering should
be such that sattvika precedes tamasa tattvas and jfianendnya precede karmendriya

A Ahankara
B. Mahat
C. Vak

D.. Rupa

E. Caksus

1.B,ADCE
2ABD,CE
3BAEDC
4BAECD

Options :

22742759617. 1
22742759618. 2
22742759619. 3

22742759620. 4

Question Number : 130 Question Id : 22742715301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 5 a1 T 5 7 Ve g T % et 1 9 o 8 W g o o o, 7 o R
AT T T o AfRe

A IR
B.Teq
C.T®

D.¥1

E. 94]
1B,AD,CE
2ABD,CE

3BAEDC
4BAECD

Options :

22742759617. 1
22742759618. 2
22742759619. 3

22742759620. 4

Question Number : 131 Question Id : 22742715302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Place the following in chronological ascending order
A_Ellora caves

B. Sanci stupa

C. Udayagiri caves of Odisha

D. Jageswara Temple

E._Ajanta Caves

1.A,B,C,D,E
2 BAECD
3.B,C,EAD
4 C,B,A,DE

Options :

22742759621. 1
22742759622. 2
22742759623. 3

22742759624. 4

Question Number : 131 Question Id : 22742715302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfERad @ BIAHARYR SRIg! HH § aiyd Sifod:
A TR HId
B. Tidl &4 - |

C. oIl B ISR 1T
D. SR HfeR

E. 3f5d {;'TJIV@

i< feu 7Y fadedl § ¥ 98I SR I

1.A,B,C,DE
2 BAECD
3.B,C,EAD
4 C,B,A,DE

Options :

22742759621. 1
22742759622. 2
22742759623. 3

22742759624. 4

Question Number : 132 Question Id : 22742715303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following numbers in descending order
A Vmda

B. Sanku

C. Prayuta

D. Koti

E. Kharva

.E,D,A,C, B
.D,C,BAE
B,EAD,C
A,D,EC,B

[

N =9

Options :

22742759625. 1
22742759626. 2
22742759627. 3

22742759628. 4

Question Number : 132 Question Id : 22742715303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fgfoad 9wl & 2Edel &5 H Fafyd Bife

- . .

TRt tsa § Y I TR I -

1.E,D,AC B
2D CBAE
3. B EA DG
4 AADECB

Options :

22742759625. 1
22742759626. 2
22742759627. 3

22742759628. 4

Question Number : 133 Question Id : 22742715304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following works in the year of chronological publication
A_A scream in secret India- Paul Brunton

B. Siddhartha- Hermann Nesse

C. The ideals of Indian Art- E B Haveil

D. The light of Asia- Sir. Edwin Arnold

E. Indian Wisdom- Sir Monier Williams

Options :

22742759629. 1
22742759630. 2
22742759631. 3

22742759632. 4

Question Number : 133 Question Id : 22742715304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(Y

FafaRad Ti®! B 3-d USHRH T4 & AR BIcdHH H Haieyd Hifo;

A T T 39 Hishe Sfear— Uid e

B. g - g7 &

C. G JEfeae™ P a0+ 3¢ — 3 81 gdd

D. G Age 3% URA - W Tsfad 3Mls

il

E.3fegq fawss - @ Oifa faferag

J feu 7o faeedl & °© 98 SR O

Options :

22742759629. 1
22742759630. 2
22742759631. 3

22742759632. 4

Question Number : 134 Question Id : 22742715305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of the tanmatras as per the sankhya school
A Sparsa

B. Gandha

C. Sabda

D. Rasa

E. Rupa

A E D, B,C
G AE DB
.E,D,B,C A
.B,D,C, A E

[

N =9

Options :

22742759633. 1
22742759634. 2
22742759635. 3

22742759636. 4

Question Number : 134 Question Id : 22742715305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eI Td & SFUR dHETS &1 Tel AHIHH 7132
A. T
B. e
C. st
D. T4
E. &Y

T feu e fadedi

M

3|

ISR

gl

1.A/EDB,C
26 AE DB
3.E,D,B,C A
4 B,D,CAE

Options :

22742759633. 1
22742759634. 2
22742759635. 3
22742759636. 4

Question Number : 135 Question Id : 22742715306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the @rohana krama of svarasthanas(as per the prevalent conventions of Camatic music)
A. Suddha vrsbha

B. antara gandhara

C. satsruti dhaivta

D. suddha madhyama

E. Suddha nisada

1.B,ADCE
2BADEC
JABDEC
4 ABDCE

Options :

22742759637. 1
22742759638. 2
22742759639. 3

22742759640. 4

Question Number : 135 Question Id : 22742715306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fofied @ TR R & ARIEY HH § Toaryd DIy (@-icd Siid & Fafed AGa & STaN):
A S BT

B. AR MR

C. W2 yfd dad

D. IS A

E g e

i T M el H Y W IR EH -

1.B,ADCE
2B,ADECGC
3 ABDEC
4 ABDCE

Options :

22742759637. 1
22742759638. 2
22742759639. 3
22742759640. 4

Question Number : 136 Question Id : 22742715307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements:

Statement |: The nagara temple is found from the Punjab, Himalayas to Assam in north, and from Gujarat to Maharashira in the
west

Statement II: The river Krishna may be regarded as southern boundary of Nagara temple
In the light of the above statements, choose the most appropriate answer from ihe options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and statement | are incorrect
3. Statement | is correct but statement Il is incorrect
4 Statement | is incorrect but statement Il is correct



Options :

22742759641. 1
22742759642, 2
22742759643. 3
22742759644. 4

Question Number : 136 Question Id : 22742715307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U | - TR AR IR H UoTe, eIy ¥ 39 7 71 Ufm H oRTd Y ARIY 0 U1 & &

DU || ; TN G Bl AR HIC S 1A 1AM o Gl ¢

N

ffad fadedl § 8 98 SR g

U HYHI & HTeH® | Y

1. BY | 3R 11 Sl Tel &

2 YT AR GHITad &

3 PYT | TR 8 afpT w1 Tad §
4 Y| TET g, AT PY 1 TRl
Options :

22742759641. 1
22742759642. 2
22742759643. 3

22742759644. 4

Question Number : 137 Question Id : 22742715308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Buddhi is the mental faculty that makes decisions.

Reason R: Manas is inherently fickle(caficala)

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Aand R are correct and R is the correct explanation of A

2. Both A and R are correct but R is Not the correct explanation of A
3. Alis correct but R is not correct

4. Ais not correct but R is correct

Options :

22742759645. 1
22742759646. 2
22742759647. 3
22742759648. 4

Question Number : 137 Question Id : 22742715308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HIHBYH A - g AHITS & € Sl 0 ol 2|

HRUR - G4 WYI[dH &9 4 dda gldl e |

IUYe Yl P Teid H FHifed ol § 8 98l Iw g |
1. A 3R R &HI ¥g1 § 3R R, AD el o1 §

2 ARREH 981§, did R, ADI Ug1 ARSAT 181 &

3 ATEE dPTR IS TR
4 ATSITEI 8 O, RTEI &

Options:

22742759645. 1
22742759646. 2
22742759647. 3

22742759648. 4



Question Number : 138 Question Id : 22742715309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: The synonym for brass in Sanskrit is svarnakakrta

Statement II: The synonym for zinc in Sanskrit is yasada

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and statement Il are incorrect
3. Statement | is correct but statement Il is incorrect
4 Statement | is incorrect but statement [l is correct

Options:

22742759649. 1
22742759650. 2
22742759651. 3
22742759652. 4

Question Number : 138 Question Id : 22742715309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HY | - IRpd § Uiad &1 SHERiuaiy wuieed 3
U || : Tpd oI @I SAERTIaR 3%
I YA & 3HTelid H Fgifed fadbed 8§ 9 98 SR 94 -

1 Y ARSI Ta B
2 ®YF | 3N 1| gHf 7Tad §
3. DY | Gal 8, difded Y 11 TTad &
4 DY | TTdd 8, i Y 11 98l 8




Options :

22742759649. 1
22742759650. 2
22742759651, 3
22742759652. 4

Question Number : 139 Question Id : 22742715310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement |: The number associated with "strya” is greater than the number associated with ‘rada’, as per Bhitasankhya
system

Statement Il: The number associated with “strya” is less than the number associated with ‘rada’, as per Aryabhatan system
In the light of the above statements, choose the most appropriate answer from ihe options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and statement | are incorrect
3. Statement | is correct but statement Il is incorrect
4 Statement | is incorrect but statement Il is correct

Options :

22742759653. 1
22742759654. 2
22742759655. 3
22742759656. 4

Question Number : 139 Question Id : 22742715310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TaasyTRumuE:

HUF | - YISEA USid & R, GO ¥ Ueg 98 Y5 9§ Uds =1 Y YD (@) B

T || - YT TSl & 39R, 94 § J9s 9= 36 § Jag 99 U & (B '
SUdad Syl & 3Taiie H FafaRad fasedl 8§ 9 T8 SR -

1 YT AR AT &
2 FUH IR GHITad &
3 HY | Tol 8, dfd Sy 11 Tad &
4 HY | 7o §, AT YT 1| TRT B

Options :

22742759653. 1
22742759654. 2
22742759655. 3
22742759656. 4

Question Number : 140 Question Id : 22742715311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Dayaika.fw I5 an example of Guna Sandhi

Reason R: Uis a Guna alphabet

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Aand R are correct and R is the correct explanation of A

2. Both A and R are correct but R is Not the correct explanation of A
3. Als correct but R is not correct

4. Ais not correct but R Is correct

Options:
22742759657. 1
22742759658. 2

22742759659. 3



22742759660. 4

Question Number : 140 Question Id : 22742715311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl YA UL R - U Bl DY (A) R GE &I ddb (R) B8l T 8

HUEHYT A - GAD UG BT IETE B

®RUR - T g B

Sudd Byl & Scid | Mg fdbedl H € el 3w 9 -

1. AR RGHI 981 8 3R R, A D! Yol o0 &

2 AMRRGH 981§ AT R AT O e T8l ©
3 ATl g, GfP-TR Hel 1ol &

4 ATSl el e dlid, RTel &

Options :

22742759657. 1
22742759658. 2
22742759659. 3

22742759660. 4

Sub-Section Number : 2
Sub-Section Id : 227427599
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742715312 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage and answer the questions

The island of Bali is rather unique of all the states of sout-east asia in the sense that she is the only hindu colony in the east that
stil follows Brahmanical practices. It was before the sixth century AD that the Hindu had colonized and set up a kingdom in Bali
There can be no doubt that in the sixth century AD the island of Ball was the seta of a rich and civilized kingdom ruled by the
Hindus. Bali had close contact with Java and very often was polifically subordinate to Java. But we should remember that
originally Bal derived her culture from India directly and was not a mere product of Indo-Javanese culture. From these
Inscriptions we see that there were at least five hindu kings and one queen that ruled over bali in the tenth century AD.
Ugrasena(915-933 AD) was the earliest of them. Then we find Tabenendra-varma-teva and queen SrT-vijaya-mahadevT

Sub questions

Question Number : 141 Question Id : 22742715313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Bali was often politically sub-ordinate to which of the following country in the past?

1. India
2_Indonesia
3 Java
4 Malaysia

Options :

22742759661. 1
22742759662. 2
22742759663. 3

22742759664. 4

Question Number : 142 Question Id : 22742715314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Inscriptions on stone and copper-plates of 8™ century AD from Bali proves which of the following point about Bali's civilization of
that period?

1 that it is an offshoot of Javanese culture

2. that itis an offshoot of Indo-Javanese culture
3. That it had a distinctive character of its own
4. That it had nothing to do with Indian culture

Options :

22742759665. 1
22742759666. 2
22742759667. 3
22742759668. 4

Question Number : 143 Question Id : 22742715315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Hindus had colonized and set-up a kingdom in Bali in the tenth century AD

Statement II: Ugrasena (915-933 AD) was the earliest Hindu king who ruled over Bali

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement [l are correct

2. Both Statement | and statement || are incorrect
3. Statement | is correct but statement Il is incorrect
4. Statement | is incorrect but statement |l is correct

Options :

22742759669. 1
22742759670. 2
22742759671. 3

22742759672. 4

Question Number : 144 Question Id : 22742715316 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- Oniginally Bali derived her culture from China

Statement II: Copper-plate inscriptions reveal that Hindu kings ruled over Bali in the 1%t century AD.

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and statement || are incorrect
3. Statement | is correct but statement |l is incorrect
4 Statement | is incorrect but statement |l is correct

Options:

22742759673. 1
22742759674. 2
22742759675. 3

22742759676. 4

Question Number : 145 Question Id : 22742715317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one Is labelled as Asserfion A and the other is labelled as Reason R
Assertion A: Java is also a Hindu calony in the south east Asia

Reason R: Ball had close contact with Java and very often was politically subordinate to Java and Bali follows Brahminical
practices

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Aand R are correct and R s the correct explanation of A

2. Both Aand R are correct but R is Not the correct explanation of A
3. Ais correct but R is not correct

4 Ais not correct but R is correct



Options :

22742759677. 1
22742759678. 2
22742759679. 3

22742759680. 4

Question Id : 22742715312 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742715313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759661. 1
22742759662 2
22742759663. 3

22742759664. 4

Question Number : 142 Question Id : 22742715314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759665. 1
22742759666. 2
22742759667. 3

22742759668. 4

Question Number : 143 Question Id : 22742715315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759669. 1
22742759670. 2
22742759671.3

22742759672. 4

Question Number : 144 Question Id : 22742715316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742759673. 1
22742759674. 2

22742759675. 3



22742759676. 4

Question Number : 145 Question Id : 22742715317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759677 1
22742759678 2
22742759679. 3

22742759680. 4

Sub-Section Number : 3
Sub-Section Id : 227427600
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742715318 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the passage and answer the following questions

Dance has found copious mention in Sanskrit literature from the earliest imes. Of the amusements current among the people, the
Ro-Veda mentions the performances of women dancers with broidered garments and low cut dress (1.92.4). Also, Robed in
garments, fair as heaven o look on, they displayed themselves actively (V. 29.3). We hear also of men dancers who, with
breasts adorned with gold, performed war-dances. References to song and dance are found very often in the R@mayana also.
Ayodhya was always bright with musicians and dancers of the highest quality. Music and dance lulled the kings to sleep and woke
them again to the duties of a new day. Even in the kingdom of Vali, the so called king of the monkeys, we hear of music and
dance in the apariments of the royal ladies. But the palace of Ravana affords us the best record of the advance and progress
made in the arts of music and dance in those far-off days. One of the women won the heart of Ravana by her matchless powers
of expression and dance. Even when sleep overcame her, her limbs retained the pose they had assumed during the
entertainment.

Sub questions

Question Number : 146 Question Id : 22742715319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Earliest reference to dance is found in which of the following Sanskrit literature as per the passage?

1. Ramayana
2 Mahabharata
3 Natyasastra
4 Arthasastra

Options :

22742759681. 1
22742759682. 2
22742759683. 3

22742759684. 4

Question Number : 147 Question Id : 22742715320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a garment adored by dancers as mentioned in Rg veda

1. Broidered garments

2. Low-cut garments

3. Fair coloured garments
4. Dark coloured garments

Options :

22742759685. 1
22742759686. 2
22742759687. 3
22742759688. 4

Question Number : 148 Question Id : 22742715321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- Music and dance were very much practiced and propagated in the kingdom of vali
Statement |I: Ravana did not promote music and dance in his kingdom

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and statement |l are incorrect
3. Statement | is correct but statement Il is incorrect
4 Statement | is incorrect but statement [l is correct

Options :

22742759689. 1
22742759690. 2
22742759691. 3

22742759692. 4

Question Number : 149 Question Id : 22742715322 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement | War-dances were performed by male- dancers as espoused in the Sanskrit literature.
Statement |- Ayodhya as described in the passage was always bright with warriors and traders.

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and statement || are incorrect
3. Statement | is correct but statement |l is incorrect
4 Statement | is incorrect but statement |l is correct

Options :

22742759693. 1
22742759694. 2
22742759695. 3
22742759696. 4

Question Number : 150 Question Id : 22742715323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Monkeys also have the aesthetic appreciation for music and dance.

Reason R: In Ravana’s palace one sees the highest record of the advance and progress made in music and dance.
In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Aand R are correct and R is the correct explanation of A

2. Both A and R are correct but R is Not the correct explanation of A
3. Als correct but R is not correct

4 Als not correct but R is correct

Options :



22742759697. 1
22742759698. 2
22742759699. 3

22742759700. 4

Question Id : 22742715318 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742715319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759681. 1
22742759682 2
22742759683. 3
22742759684. 4

Question Number : 147 Question Id : 22742715320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759685. 1

22742759686. 2

22742759687. 3

22742759688. 4

Question Number : 148 Question Id : 22742715321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742759689. 1
22742759690. 2
22742759691. 3

22742759692. 4

Question Number : 149 Question Id : 22742715322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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22742759696. 4

Question Number : 150 Question Id : 22742715323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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